C:# |dentify Linear Functions (Table)

Name:
Determineif the table shown representsalinear function (yes) or not (no). Answers
1) Y=7"+4 2) |Y=-Xx9 3) | y=-x2
X Y x| v x|y L
B 3| 27 1] -1
-3 | 4.003 9 81 -7 -49 2
-6 | 0.080 0] 0 -9]-81
3| 347 3 |-27 o -a 3,
7 (823,547 8 | -72 7 |-49
4.
5.
4) v=/xa 5 |Y=X 6) |Y=-X-5 .
XY X|Y :
Xl Y 5[5 2| -3
-1{-0571 ne =10 -
-2(-1.143 oo o1
-3(-1.714 33 —T> 8
1| 0571 s =13
21143 o
10.
7) | Y=3xX-(Xx-1) 8) |Y=X+5 9 |y=n/X8
X Y X |y <1 v 1
2 | 8 1) 4 10| 1.414
5 | -20 411 8 | 0.000 2
6 | -24 8] -3 9 | 1.000
-7 -28 9| -4
9 36 5110
10) Y=7+></4 11) |y=x%6 12) [y=6-X
XY X |Y
X| Y -5 19 -4 110
4] © ol-6 9|15
-7|5.250
2| -2 3|3
8] 5 519 51
1|7.250 EC T3
4| 8
1-10 192|83|75(67|58|50|42(33|25]| 17
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Identify Linear Functions (Table) Name: Answer Key
Determineif the table shown representsalinear function (yes) or not (no). Answers
1) Y=7"+4 2) |Y=-Xx9 3) | y=-x2
X Y x| v X[y L no
-10| 4 3| 27 1 -1
-3 | 4.003 9| 81 -7|-49 2 yes
-6 | 0.080 0|0 -9|-81
3| 347 3|-27 > 4 3. no
7 | 823,547 8 |-72 7 |-49
4, yEes
5. YES
4) X 5 |yY=-X 6) |Y=-X-5
Ll x[Y X [y 6. yes
Xl Y 5|5 2|3
-1|-0.571 N =10 7 yes
-2|-1.143 o9 o1
-3(-1.714 313 712 8 yes
10571 sl o3
21 1.143 9 no
10. YES
7) | Y=3xX-(Xx-1) 8) |Y=X+5 9 |y=n/X8
11. no
X Y X|Y <1 v
2 | 8 1) 4 10| 1.414
5 | -20 411 8 | 0.000 2__ Y&
6 | -24 8] -3 9 | 1.000
-7 -28 9| -4
9 36 5 | 10
10) Y:7+X/4 11) Y=X°6 12) |vy=6-X
X |Y XY
X| Y -5 19 -4 110
4] © ol-6 9|15
-7|5.250
2| -2 3|3
8] 5 519 51
1 |7.250 N T
4| 8
1-10 {9283 |75(67|58|50|42(33|25|17
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